DRAWN BY: BILL BERENS

,J\17,

/W4X13

_ 3 1/2" (IN)

50"

% MODIFY DIMENSION AS REQUIRED FOR PROPER
FIT-UP WITH THE VMS DOOR OPENING.

W4x13 AND RAILING POST

END VIEW @

MATERIAL SPECIFICATIONS

PIPE

ASTM A 36 OR ASTM A 53
GRADE B, TYPEE OR S,
OR ASTM A 500 GRADE B

PLATES AND SHAPES

ASTM A 36

STRUCTURAL TUBING

ASTM A 500 GRADE B

GALVANIZING FOR PIPE
PLATES, SHAPES AND
STEEL GRATING

AASHTO M 111

HIGH STRENGTH BOLTS,

NUTS, & WASHERS; INCL.

MOUNTING BEAM BOLTS

STD SPEC. SECT. 9-06.5(3)

ALL OTHER BOLTS

STD SPEC. SECT. 9-06.5(1)

FASTENER
GALVANIZING ASTM F2329
STEEL GRATING ASTM A 36

W4x13 (TYP.) e

I~ ] TN )
) BT fiese
| !
o !
| \ |
! s !
! \ ! WALKWAY ENTRANCE
! N ! (INSIDE OPENING
! N : SWING GATE)
! N !
! N !
- | So |
- STEEL ‘ S
Il GRATING e 1 ‘?ﬂ
H SEE DETAIL : b :
| |
| |
| |
W4x13 (TYP.) | |
| |
| |
iPi Foi == fi|
Y 8 ? 0N
L 1 - d
| |
TOE PLATE | 4'- 0" MAX. (TYP) |
SEE DETAIL i i
@ — W4x13 AND POST — ¢
PLAN
MAINTENANCE WALKWAY
SPLICE (TYP.)
(SEE NOTE 4)
L
- Y~ ‘6 J% '''''''''''''''' L ,,,, ‘E{ Lf;f '''''' T
O w ‘ I | |
z| = | \ \
E ; N : 2" (IN) STD. | V‘V ‘
o F PIPE (TYP.) (TYP.) !
S 3 : NRAILING) o L MW
= \
O o | | ‘ |
ol & ! S ! TOP OF TOE PLATE
o 5 i B ey | G [ R DN [ B ) 1*/
s| F : : : TOP OF GRATING
S| s | . | | 2
28y || awem | sruoeg *
. I ) . ' '
z 5 | " posTy . N! | :
- I : . .
© \ } |
E':) —L \ |
| | |
; A o 7 }Wﬂﬁﬁllllllllllllllllllﬁ—lﬁ
N | | @ [
| olllo olllo JQUYU
T
| \/,
| 40" MAX. (TYP) W4x13
SEE DETAIL "A" i

— W4x13 AND POST

PROVIDE A 3/4" (IN) DIAM. HOLE IN PIPES, AT
PIPE CROSSINGS, FOR GALVANIZING.

ELEVATION

MAINTENANCE WALKWAY

NOTES

1. Not intended for use in front of static signs.

2. For mounting the maintenance walkway to a monotube
sign bridge, see Standard Plan G-95.20.

3. For mounting the maintenance walkway to a truss-type
sign bridge, see Standard Plan G-95.30.

4. Location of railing splices to be determined by fabricator.

See "Railing Splice Detail".
,AI\,,,

INSTALL 2 HINGES W/ .
1/4" (IN) S.S. SCREWS vz |

(TYP.)

|
|
GATE STOP | 1
(ATTACH TO —H \
FRAME) || / |
|

\W4x13

|
|
||
2" (IN) STD. Plpl‘g
|
|
|
|

HAND RAIL (GATE ONLY)
AND POST
(TYP.)
N TTTTITTITTITTITTITTIT TTTTTTTITTITTITTITTITTI T T I
k=4 ‘Efi@ ‘ET} k=
. ]
[ \ ! [
| W4x13 } 2'_g" |
| ‘ | SEE DETAIL "B"
| 5 . Q" |
| |
@ — W4x13 AND RAILING POST ———— §

MAINTENANCE WALKWAY GATE

Zeldenrust, Richard

JA R AT Jun 192018 2:30 PM
cosign

MAINTENANCE WALKWAY
FOR SIGN BRIDGES

STANDARD PLAN G-95.10-02
SHEET 1 OF 3 SHEETS

APPROVED FOR PUBLICATION
R Carpenter, Jeff
L4 e Jun 28 2018 10:35 AM

VL cosign

STATE DESIGN ENGINEER

Washi S D f T i
ashington State Department of Transportation
L/




DRAWN BY: BILL BERENS

312"

0,0

W4 x 13, PLATE & POST ¢

| 3/4"

3/8" (IN)
MAX.

2" (IN) DIAM.
STD. PIPE

3 SIDES (TYP) >—

CONNECTION PLATE
(SEE DETAIL)

3/4" (IN) x 4" (IN) x 5" (IN) PLATE

7 W4x13

¢

\ CONNECTION PLATE
3/4"

(SEE DETAIL)

3/8" DIAM.

2" (IN) DIAM. STD. PIPE WALL \N
1/8
3/16
3/4" (IN) PLATE \
Wi4x13,
PLATE & POST #

SECTION @

5/8" (IN) DIAM. ASTM F3125 GRADE A 325 H.S. BOLT
W/ HEAVY HEX NUT AND WASHER, GALV. (TYP.),
TIGHTEN PER STD SPEC. SECTION 6-03.3(33).

W4x13

15/8", 4"

AN

STIFFENER (TYP.)

W4x13

PLAN ¢ HOLES
"3
‘ 3/8" (IN) PLATE
|
|
h ! m
1/2" (IN) DIAM. H.S. u
BOLTS (TYP.) @ N *'*" ;
|
5 & i z
O - | o
P -~ . w
[ l | ] | 8 S
i 1|
" 1172 Z \/ | z
L - 3/16
| ‘ - ) 3 SIDES (TYP.W
4= = e 3/8" (IN) CHAMFER 9/16" (IN) x 3/4" (IN) SLOTTED HOLE
1/4" (TYP) FOR 1/2" (IN) BOLTS (TYP.)
ELEVATION CONNECTION PLATE DETAIL
DETAIL "A"
4 1" MIN.
18'MIN.TO | | )
o MA ] \2 (IN) STD. PIPE (RAILING)
3/4"
5/8“ 1/16“ 5:::::::::::::::::::::::::::::::::::::: Téﬁ’,ziﬁlﬁii’,ﬁ:ﬁiﬁ:z‘
1/16"
[:::::::;?::::::::::::::S?:::::::: ;i:::::::::::::::::ﬁ

1

SLOTTED TYPE SPRING PIN

1/16"

(ANSI B18.8.2, TYPE 304 STAINLESS STEEL)

DRIVE PIN DETAIL

DRIVE PINS (SEE DETAIL)
ELEVATION

RAILING SPLICE DETAIL

1/2" (IN) x 4 1/2" (IN) x 7 1/4" (IN)

PLATE

3/8" (IN) PLATE

/ S EERES |

OF RAIL | OF RAIL

2" (IN) DIAM.
STD.PIPE
RAILING

11/2" (IN) DIAM. STD. PIPE
RAILING SPLICE SECTION

SECTION @

W4x13 T

|_— 3/8" (IN) PLATE
ﬂ'%

1/4
/ 1/2" (IN) PLATE

N\

AN
|

I STIFFENER

A

/ 1/4" (IN) PLATE (TYP.)

3/8" (IN) CHAMFER
L (TYP)

I

114"
Z 12" SNIP

/ — STIFFENERS,
S 1/4" (IN) x 1 1/2" (IN)

BOTH SIDES

31/2" 31/2" 114"
ELEVATION
DETAIL "B"
OUTSIDE _ | INSIDE

SECTION @

Zeldenrust, Richard

JA A RE AT Jun 192018 2:30 PM

MAINTENANCE WALKWAY
FOR SIGN BRIDGES

STANDARD PLAN G-95.10-02

cosign

SHEET 2 OF 3 SHEETS

APPROVED FOR PUBLICATION

5 s

Carpenter, Jeff
Jun 28 2018 10:36 AM

cosign

STATE DESIGN ENGINEER

Washi S D f T i
ashington State Department of Transportation
L/




DRAWN BY: BILL BERENS

SPAN (DIRECTION OF BEARING BARS)

PANEL SPAN (TYP.)

4" MAX.
N (TYP.)
[©] ‘ -
L] -
@ i 1 g
1 B
1 1" (IN) MAX. =
1 L CLEAR =
! (TYP) Z
1 ¢ o
. 1 —
- \
s % i% 3/16" (IN) CLEARANCE
- —~—y L BETWEEN ENDS
/ 5 OF CROSS BARS
GRATING FASTENER |
(TYP.) SEE DETAIL ° ° — — ° } ° —
= P o = Z
(o) (o] 7 (o] (o]
/ | G
1/4" (IN) TOE PLATE »{k 3116" (IN) MIN.
" 3/8" (IN) MAX.
Wax13 (TYP) CROSS BAR, 1/8" (IN) MIN. THICKNESS (TYP.) | (IN)
BEARING BAR, 3/16" (IN) MIN. THICKNESS (TYP.) ¢ Wax13
PLAN
STEEL GRATING DETAIL
(RAILING NOT SHOWN FOR CLARITY)
1/4" (IN) TOE PLATE 1/4" (IN) TOE PLATE
T EVERY FOURTH BEARING T
BAR AND NEAR ALL TOE 1-12
3/4 '\ PLATE CORNERS
= - GRATING FASTENER
= GRATING FASTENER s SEE DETAIL
& SEE DETAIL %
CROSS BAR (TYP.) CROSS BAR
1N /i
3/16" (IN) 7 g 3/16" (IN) 3
[ | L ? [
0" MIN. 1" (IN) MIN. 0" MIN.
3/4" MAX. 3/4" MAX.

W4x13 BEARING BAR

SECTION @

W4x13

u][L J:’PI v
©

BARS

SECTION

GRATING FASTENER

CROSS BAR \

BEARING
BARS

=i

INSTALL AND ARRANGE THE
GRATING FASTENERS
ACCORDING TO THE
GRATING MANUFACTURER'S
RECOMMENDATIONS.

Wa4x13 el

GRATING FASTENER DETAIL

Zeldenrust, Richard

MM‘ Jun 19 2018 2:31 PM

COSISH

MAINTENANCE WALKWAY

FOR SIGN BRIDGES
STANDARD PLAN G-95.10-02

SHEET 3 OF 3 SHEETS

APPROVED FOR PUBLICATION

P Carpenter, Jeff
177 Jun 28 2018 10:36 AM

cosign

STATE DESIGN ENGINEER

Washi S D f T i
ashington State Department of Transportation
L/




		2018-06-19T14:30:25-0700
	Zeldenrust, Richard


		2018-06-28T10:35:52-0700
	Carpenter, Jeff


		2018-06-19T14:30:43-0700
	Zeldenrust, Richard


		2018-06-28T10:36:01-0700
	Carpenter, Jeff


		2018-06-19T14:31:05-0700
	Zeldenrust, Richard


		2018-06-28T10:36:10-0700
	Carpenter, Jeff




